Evaluate |, F - dF where F(z, ) = yi+22j and C is composed of the line segments from (0,0) to (1,0)
and from (1,0) to (1, 2).
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Are the following \tclt(‘lll(llt“s true or false?

—

1. The 1111( integral |, {2® L 2xy)dxr + (z? — y?)dy is independent of path in the zy-plane. 7]
2. [ (z3 + 2zy)dz + ( 2 —y?)dy = 0 for every closed oriented curve C' in the zy-plane.
3. There is a function f(x,y) defined in the xy-plane, such that

grad f(z,y) = (23 + 22y)i + (22 — y?)J. T

A. all three are false B. 1 and 2 are false, 3 is true C. 1 and 2 are true, 3 is false
D. 1is true, 2 and 3 are false @ Il three are true
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Evaluate |, y“dx+6xydy where C' is the boundary curve of the region bounded by y = v,y =0and

r = 4. in the counterclockwise direction.
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Find the area of the portion of the plane x + 3y 4+ 2z = 6 that lies in the first octant.
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If ¥ is the part of the paraboloid 2
upward, and F(z,y, 2) = xi 4+ yj + 2k, then ”L F-ndS =

A. 0 B. 8 C. 4r D. —dr -
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Use Stoke’s theorem to evaluate || curl F - dS | where

=

: 2 yz? | 2 227, 2 ayl

F(x,y,z) =x%e’*1 + y“e**j + z°e™ Yk,
y s p 9 9 9

and S is the hemisphere z“ + y* + 2z° =4, z > 0, oriented upward.
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Use Stoke’s theorem to evaluate [( F' - d7r, where

= 0 = 9% 0P
Flz,y,z) =xzt + 2y°j + 2°k,
and C' is the curve of intersection of the plane x4+ vy + 2z = 1 and the cylinder z? 4+ y* = 9 oriented
counterclockwise as viewed from above.
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If F(x,y,z) = coszi+sinzj+ xyk, 2 is the complete boundary of the rectangular solid region bounded
by the planes x =0,z =1, y =0,y =1, z =0 and z = %, and n is the outward unit normal on X,

.
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